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SM3 5.3 Graphing Radicals
Sketch the radical function with at least 3 accurate points. State the domain and range of the function.

1) a(x)=vx+3-1 | 2):b(x)=:— x—1

e S B I
S SN SO Y SO S
3 § 3
""""""" L s i D: 2 D
1 R : R
[1] 1 0
5 4 3 2 1 o 1 2 3 4 5 5 4 3 2 1 o 1 2 3 a4 5
rrrrrrrrrrrrrrrrrrrrrrrrrrrr L R S e B S e B S S
rrrrr 2 2
3 3
,,,,,,,,,,,,,,,,,,,,,,,,,,,, P S SR SN SN SN S USSR SRS S S S WSRO SN S SO O
5 5

4 4
3 § 3
2 D 2 D
! 3 R: ! R
) ; o
5 4 3 2 1 Jo 1 2 T 5 5 4 3 2 1 o 1 2 4
-1 : 1
2 2
3 3
4 4
5 5

5) f(x)=Vx+5 5):g(x)=:5\/x—2+3
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8) | j(x)<:\/x+4—1




13) p(X) > BYX + 2 : : 14) q(x) < syllx — _ 1
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17) t(x) > fBW 18) u(x)<—-Vx—4+4
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